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UCONN Physics 1202q
Unit 16 / Chapter 28 Pre-Quest
“Interference and Diffraction”

Directions: Be sure to show all of your work in the space provided below to receive credit.

Free Response Section: 10 pts each.

Light of wavelength 550 nm falls on a slit that is 3.5 x 10" mm wide. How far from the central

1.
maximum will the first diffraction minimum be if the screen is 10 m away?
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Two loudspeakers are placed 4 m apart for an open-air concert. They are playing back a
flute sounding a note of 680 Hz. Members of the audience sit in a row, 20 m from the
loudspeakers, parallel to the line between the loudspeakers.

Take the speed of sound as 340 m s™

Describe, as precisely as possible, what different people in the row will hear.
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4. In a double-slit experiment it is found that blue light of wavelength 460 nm gives a second-order
maximum at a certain location on the screen. What wavelength of visible light would have a minimum
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5. What is the separation between two slits for which 610-nm orange light has its first maximum at o Lo —
an angle of 30.0°? ’
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